Function Notation - PDF Copy

The presentation contains the slides below with the objective of enabling students to: i. Understand
f(x) type notation and use this to evaluate given values for single and composite functions ii.
Understand the use of inverse function notation and find the inverse of a function given in f(x)

notation. The explanation begins with of y = 2x + 1 notation compared to f(x) = 2x + 1 and then goes
on to evaluating given functions and finding inverses.
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Here we have two functions, if we put the value
2 inta function fand then put this value into
function g, the combined result is..

flad= 2+l gl = aF
(3= x+1 g@)= 42
fi3=a— S T34)= 16
glf(30 = 18
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Given that fiix) = x- 1 alx = 22 hix) = (x+ 3F
and m(x) = 2 x + levaluate these composite
functions

1. fqi3i=8 2 gfi3 =4
3. thig) =63 4. hf(5)=49
5. gh(3) =129 6. hg(F) = 144

7. mh{Z) =51 g. fm{(i0)= 20
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Remember that wou can always check your answer,
Here is an example...

flad = Slac+ 102 5 FUad =MD - 1
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Here we have two functions, if we put the value
2 into function fand then put this value into
function g, the combined result is...

flx)= x+1 gl = xF
(3= x+1 g4 = 42
fiziza— S g4 16
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Irwerse Functions

Given that %) = x7and g %) = 2x+ 1, evaluate
a. fg{3)and b. gfi(3)

o (3 =Flap e _ WF(3)=FlgEn

9(3)=23+1 f(3)=3

a3 =7 #(3) = 9
fi7y=7¢ giF)l=2=9+1
£(7) = 49 o7} =19
fg(3) = 49 gf (3= 19
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Another advantage of this type of notation is that
gives us a way of weiting inverse functions. Here
is an example of how the inverse of function f
would be weitten..
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Remember that wou can always check your answer.
Here is an example...

flad = Slac+ 12 = FHad = (M- 105
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Try to complete the inverse functions...
Lf(M=x-2 = Y
Z.g(x) = 3x = gix
Fhix=2x-1 = hifx)
4. mix) = xF = i)
Aonlad = fa+ 302 2 i
6.p()=4x2-3 3 pi
Toqlxd = (3 + 207 = qiix)
g.orixd =i+ 3 = rix
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Given that fix) = x- 1, q(x) = 2%, hix) =[x+ 8F
and m{x) = 2x + 1evaluate these composite
functions

1 fal= 2 gf(3)
3. this) 4. k(g
5. ghi &, hgl3]
7. whi2) 8. fmi10)
g 12

In more complicated functions, it may help to find
the inverse by writing down the operations of the
function like this..

F(x= 2o 5

EEL

¥ wlue..
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Try to complete the inverse functions...
Lf(¥=nx-2 = fYd=x-2
2.9(R=3x > (=3
Fhix =2x-1 = hifxd=i(x+ )42

4 mix) = af = s = a

Soniad = (x+ 3 2 niad=dla-3
6.l =4x2-3 > piad = (o VA
7.q0 = (32 + 22 > qi(sd = ({2~ 20/3)
Sorix=Six+3) = rix)=-xE-3
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